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	1Q.
	a)
	Identify the following that has the Characteristics of :
a) A Cable that is low – cost, thin, flexible, can carry data upto a length of 100m at a stretch and easy to install.

b) An Electronic device that connects several nodes to form a network and redirects the received information only to the intended node.
c) A Topology where nodes are connected to a central hub / switch.
d) A Protocol used to transfer data over a network.
	1

	
	b)
	What is IP Address ?
	1

	
	c)
	Expand :  a) OSS               b) ASCII
	1

	
	d)
	Name any two UNICODE supported Indian scripts.
	1

	
	e)
	Differentiate between

a) Snooping and Eavesdropping

b) LAN and WAN
	2

	
	f)
	Write one advantage of star topology over bus topology. Show a network of star topology to connect 5 computers. 
	2

	
	g)
	Differentia between open source software and proprietary software. Giving one example each.
	2

	2Q.
	a)
	
	1

	
	b)
	
	1

	
	c)
	
	1

	
	d)
	Expand GIF
	1

	
	e)
	Find the output of the following statement :
	

	
	(i)
	int n=10 ;

jTextField1.setText(""+ n + ++n + n-- + n++ + --n + n ) ;
	1

	
	(ii)
	
	1

	
	f)
	
	2

	
	g)
	
	2

	3Q.
	a)
	
	1

	
	b)
	
	1

	
	c)
	
	1

	
	d)
	
	1

	
	e)
	
	2

	
	f)
	
	2

	
	g)
	
	2

	4Q.
	a)
	
	1

	
	b)
	
	1

	
	c)
	
	1

	
	d)
	Rewrite the following if – construct using switch case statement.
	

	
	  (i)
	int n ;

if (n%2 == 0)

System. out. println ("Even") ;

else

System. out. println ("Odd") ;
	1

	
	 (ii)
	char x ;
if ( x == 'A')

jTextField1.setText ("Animals") ;

else if ( x == 'C' || x == 'D')

jTextField1.setText ("Cat or Dog") ;

else

jTextField1.setText ("Invalid") ;
	1

	
	e)
	
	2

	
	f)
	
	2

	
	g)
	
	

	
	
	
	2

	
	
	
	3

	
	
	
	1

	5Q.
	a)
	
	2

	
	b)
	
	1

	
	c)
	
	

	
	
	
	1

	
	
	
	1

	
	
	
	1

	
	
	
	1

	
	
	
	½

	
	
	
	½

	
	
	
	½

	
	
	
	½

	6Q.
	a)
	Create the tables college and student with following descriptions 
	

	
	(i)
	mysql> desc college;

+----------+-------------+------+-----+---------+-------+

| Field    | Type        | Null | Key | Default | Extra |

+----------+-------------+------+-----+---------+-------+

| cno      | int(4)      | NO   | PRI | NULL    |       |

| cname    | varchar(10) | YES  | UNI | NULL    |       |

| location | varchar(10) | YES  |     | Sec     |       |

+----------+-------------+------+-----+---------+-------+


	2

	
	(ii)
	mysql> desc student;

+-------+-------------+------+-----+---------+-------+

| Field | Type        | Null | Key | Default | Extra |

+-------+-------------+------+-----+---------+-------+

| admno | int(4)      | NO   | PRI | 0       |       |

| name  | varchar(10) | NO   | PRI |         |       |

| dob   | date        | YES  |     | NULL    |       |

| cno   | int(4)      | YES  | MUL | NULL    |       |

| fee   | float(7,2)  | YES  |     | NULL    |       |

+-------+-------------+------+-----+---------+-------+


	3

	
	b)
	Write the Degree and Cardinality for the following queries :
	

	mysql> select * from college;

+----+-------+----------+

|cno | cname | location |

+----+-------+----------+

|101 | SRK   | Sec      |

|102 | BVC   | Hyd      |

|103 | CMR   | Delhi    |

+----+-------+----------+


	mysql> select * from student;

+------+------+-----------+------+-------+

|admno | name | dob       | cno  | fee   |

+------+------+-----------+------+-------+

|    1 | A    | 1981-01-22|  101 |500.00 |

|    2 | B    | 1981-07-24|  102 |1000.00|

|    3 | C    | 1981-09-27|  101 |500.00 |

+------+------+-----------+------+-------+



	
	(i)
	select * from student join college;
	¼

	
	(ii)
	select * from student join college where student.cno=college.cno;
	¼

	
	(iii)
	select * from student natural join college where student.cno=college.cno;
	¼

	
	(iv)
	select * from student right join college on(student.cno=college.cno);
	¼

	
	c)
	Suppose Mrs. Lakshmi has forgotten to specify the constraint primary and foreign keys while creating both the above tables college and student. Help her to write the queries now specifying the same without dropping the existing tables.
	½ ,

½ ,

1

	7Q.
	a)
	Write two advantages of e- business ?
	1

	
	b)
	Write one positive and one negative societal impacts of e- learning ?
	2

	
	c)
	Identify the control to be used :                                                                      ( 8 x ¼ )

1. Enter Student Name

2. Enter Login Password

3. Select the Gender

4. Enter the Address in multiple lines

5. Select one Subject among 5 subjects

6. Select the Hobbies

7. Submit the form

8. Clear all the controls
	2


ARMY PUBLIC SCHOOL

RK PURAM, SECUNDERABAD

PAGE  
    www.cbseguess.com
Other Educational Portals
www.icseguess.com | www.ignouguess.com|www.aipmtguess.com | www.aieeeguess.com | www.niosguess.com | www.iitguess.com

[image: image1.png]